
Quadratic Equation



For More Information Visit Website, Link in 
Description



Standard form of Q. E.
𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 



Check whether following is a quadratic 
equation or not.

3𝑥2  − 2𝑥 +
1

2
= 0 

𝑥 +
1

𝑥
= 1 



Solving a quadratic equation
2𝑥2 − 2𝑥 − 4 = 0 
𝑥 = −1, 2 



Methods to find roots
Of Quadratic Equation

1. Factorization 

2. Formula [Sridharacharya Formula] 



Factorization method Identities. 



Q. Solve:
9𝑥2 − 3𝑥 − 2 = 0 



Q. Solve:
1

𝑥 −1
 −

1

𝑥+5
=

6

7
, 𝑥 ≠ 1, −5 



Q. Solve:

3
7𝑥+1

5𝑥 −3
 − 4

5𝑥 −3

7𝑥+1
= 11 





Q. Solve:
1

𝑎 + 𝑏 + 𝑥
=

1

𝑎
+

1

𝑏
+

1

𝑥
, 𝑎 + 𝑏 ≠ 0





Discriminant (D)
𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 
𝐷 =  𝑏2 − 4𝑎𝑐 

Nature of roots : 



Nature of roots : Graphical method





Q. Check the nature of roots for the Q. E.
 16𝑥2 = 24𝑥 + 1 



Q. Check the nature of roots for the Q. E. 
3𝑎2𝑥2 + 8𝑎𝑏𝑥+ 4𝑏2= 0, 𝑎 ≠ 0 



Q. If the roots of the eqn. 
𝑎2 + 𝑏2 𝑥2 − 2 𝑎𝑐 + 𝑏𝑑 𝑥 + 𝑐2 + 𝑑2 = 0

are equal. Then prove that
𝑎

𝑏
=

𝑐

𝑑
 





Sridharacharya Formula

𝑟𝑜𝑜𝑡𝑠 =
− 𝑏 ± 𝐷

2𝑎
, 𝑤ℎ𝑒𝑟𝑒 𝐷 =  𝑏2 − 4𝑎𝑐 



Q. Check the nature of roots for the Q. E.
& find the roots
𝑥 +

1

𝑥
= 3 



Word problems on Q. E.
Steps:-
1. Read the problem out loud (if it is big problem break into 

multiple statements)
2. Identify the unknown and assign the variable to it.
3. Find the keywords & list down all what is given
4. Start writing your mathematical statements using the 

variables & given data



Q. Find the whole numbers which when decreased by 20 is 
equal to 69 times its reciprocal.





Q. The sum of a number and its positive square root is 6

25
. 

Find the number.





Q. The speed of a boat in still water is 8km/hr. It can go 15 
km upstream and 22 km downstream in 5 hours. Find the 
speed of the stream.







Q. A plane left 40 minutes late due to bad weather and in 
order to reach its destination, 1600 km away in time, it had to 
increase its speed by 400 km/hr from its usual speed. Find the 
usual speed of the plane.





Download the class PDF now ! link in the 
description.



Homework questions
1. Check the nature of roots for the Q. E.
& find the roots
3𝑥2 − 5𝑥 + 2 

2. The sum of two numbers is 8 and 15 times the sum of their 
reciprocals is also 8. find the numbers.

3. An aeroplane take 1 hour less for a journey of 1200 km if its 
speed is increased by 100 km/hr from its usual speed. Find the 
usual speed.
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